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80 Questions

Que. 1

Que. 1

Directions: Study the following information carefully to answer the given questions:
S M P 6 3 * $ A 4 L N @ Z 5 # V U 7 E 8 B % T Y X G 2 I & 9 W

Which of the following is the third to the left of the fifteenth from the left end ?

निर्देश: दिए गए प्रश्नों का उत्तर देने के  लिए निम्नलिखित जानकारी का ध्यानपूर्वक अध्ययन करें :
S M P 6 3 * $ A 4 L N @ Z 5 # V U 7 E 8 B % T Y X G 2 I & 9 W

निम्नलिखित में से कौन बाएं  छोर से पंद्रहवें के  बाईं ओर तीसरा है?

@1.
52.
U3.
74.
None of these5.

@1.
52.
U3.
74.

इनमें से कोई नहीं 5.

Que. 2

Que. 2

How many such Vowels are there in the above arrangement each of which is immediately followed
by an even number and preceded by a symbol ?

One1.
Two2.
Three3.
Four4.
None5.

एक 1.

दो 2.

तीन 3.

चार 4.

कोई नहीं 5.

Que. 3 Four of the following five are alike in a certain way based on their positions in the above
arrangement and so form a group. Which is the one that does not belong to that group?

A 4 *1.
T B Y 2.
V 5 U3.

उपरो� �म म� ऐसे िकतने �र ह� िजनम� से ��ेक के तुर� बाद एक सम सं�ा है और तुर� पहले एक �तीक है?
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उपरोक्त क्रम में उनके  पदों के  आधार पर निम्नलिखित पाँच में से चार एक निश्चित तरीके  से समान हैं और इसलिए एक
समूह बनाते हैं। वह कौन सा है जो उस समूह से संबंधित नहीं  है?

P S 64.
9 I W5.

A 4 *1.
T B Y 2.
V 5 U3.
P S 64.
9 I W5.

Que. 4

Que. 4

How many such numbers are there in the above arrangement each of which is immediately followed
by a vowel and immediately preceded by a consonant?

One1.
Two2.
Three3.
Four4.
None5.

एक1.

दो 2.

तीन 3.

चार 4.

कोई नहीं 5.

Que. 5

Que. 5

If all the symbols in the above arrangement are dropped, then which of the following will be the
fifteenth from the left end?

E1.
72.
83.
B4.
U5.

E1.
72.
83.
B4.
U5.

                       

Que. 3

उपरो� �म म� ऐसी िकतनी सं�ाएँ ह� िजनके तुरंत बाद एक �र है और तुरंत पहले एक �ंजन है?

यिद उपरो� �म के सभी �तीको ंको छोड़ िदया जाता है, तो िन�िल�खत म� से कौन बाएं ओर से पं�हवां होगा?



Que. 6

Que. 6

Direction: Study the following information carefully and answer the following questions.
An uncertain number of person is sitting in a row facing towards North. Q is sitting second from the

left end. S is sitting seventh to the right of M. L is sitting exactly in between Q and S. O is sitting second to
the left of R. Only two people are sitting between Q and M. Only one person is sitting between S and O. P is
sitting immediately to the left of N who is sitting third to the right of R. 

Who is sitting at the extreme right end of the row?

निर्देश: निम्नलिखित जानकारी का ध्यानपूर्वक अध्ययन कीजिये और निम्नलिखित प्रश्नों के  उत्तर दीजिये।
एक अनिश्चित संख्या में व्यक्ति उत्तर की ओर सम्मुख एक पंक्ति में बैठे  हैं। Q बाएं  छोर से दू सरे  स्थान पर बैठा है। S, M के  दायें से
सातवें स्थान पर बैठा है। L, Q और S के  ठीक मध्य में बैठा है। O, R के  बायें से दू सरे  स्थान पर बैठा है। Q और M के  मध्य के वल
दो व्यक्ति बैठे  हैं। S और O के  मध्य के वल एक व्यक्ति बैठा है। P, N, जो R के  दायें से तीसरे  स्थान पर बैठा है, के  ठीक बायें बैठा
है।

पंक्ति के  अंतिम दायें छोर पर कौन बैठा है?

No One1.
Q2.
R3.
N4.
M5.

कोई नहीं 1.

Q2.
R3.
N4.
M5.

Que. 7

Que. 7

How many persons are sitting in the row?
141.

162.
193.
204.
215.

141.
162.
193.
204.
215.

Que. 8 Which of the following statement is correct regarding P?
P sits second to the right of N1.

P sits second to the left of R2.
P is second from one the extreme ends3.

पं�� म� िकतने ��� बैठे ह�?



निम्नलिखित में से कौन सा कथन P के  संदर्भ में सही है?

P is immediate right of N4.
None of the given statement is true5.

P, N के  दायें से दू सरे  स्थान पर बैठा है। 1.

P, R के  बायें से दू सरे  स्थान पर बैठा है। 2.

P अंतिम छोर से दू सरे  स्थान पर है। 3.

P, N के  निकटतम दायें है। 4.

दिए गए कथनों में से कोई भी सत्य नहीं  है। 5.

Que. 9

Que. 9

How many people are sitting in between L and O?
Four1.

Five2.
Six3.
Seven4.
More than seven5.

चार1.

पांच2.

छह3.

सात 4.

सात से अधिक5.

Que. 10

Que. 10

Who is exactly between O and P?
L1.

S2.
M3.
R4.
N5.

L1.
S2.
M3.
R4.
N5.

Que. 11 How many such pairs of digits are there in the number ‘3614729’, each of which has as many digits
between them in the number (both forward and backward direction) as they have between them in

Que. 8

L और O के म� िकतने ��� बैठे ह�?

O और P के ठीक म� म� कौन 

है?



Que. 11

the numerical series?

संख्या '3614729' में अंकों के  ऐसे कितने युग्म हैं, जिनमें से संख्या में प्रत्येक के  बीच (आगे और पीछे  दोनों दिशाओं में)
उतने ही अंक हैं जितने उनके  बीच संख्यात्मक श्रृंखला में होते हैं?

Two1.
Three2.
Four3.
Five4.
More than five5.

दो 1.

तीन 2.

चार 3.

पांच 4.

पांच से अधिक5.

Que. 12

Que. 12

Direction: In the following question assuming the given statements to be true, find which of the
conclusion among the given two conclusion(s) is /are definitely true, and then give your answers

accordingly.
Statements:
P ≤ Q = R ≥ S ≥ T < U
Conclusions:
I. P < U
II. Q ≥ T

निर्देश: निम्नलिखित प्रश्नों में दिए गए कथनों को सत्य मानते हुए, दिए गए दो निष्कर्षों में से कौन सा निष्कर्ष निश्चित
रूप से सत्य हैं/है, और फिर उसी के  अनुसार अपने उत्तर दीजिये।

कथन:
P ≤ Q = R ≥ S ≥ T < U
निष्कर्ष:
I. P < U
II. Q ≥ T

Only conclusion I follow1.
Only conclusion II follow2.
Either conclusion I or II follows3.
Neither conclusion I nor II follows4.
Both conclusion I and II follow5.

के वल निष्कर्ष I अनुसरण करता है1.

​के वल निष्कर्ष II अनुसरण करता है2.

या तो निष्कर्ष I या II अनुसरण करता है3.

न तो निष्कर्ष I और न ही II अनुसरण करता है4.

निष्कर्ष I और II दोनों अनुसरण करते हैं5.

Que. 13 Direction: In the following question assuming the given statements to be true, find which of the
conclusion(s) among given conclusions is/are definitely true and then give your answers

accordingly.



Que. 13

Statement: 
A ≥ H > B = F < G < W
Conclusions:
I. W > B
II. A > G

निर्देश: निम्नलिखित प्रश्न में दिए गए कथनों को सत्य मानते हुए, ज्ञात कीजिये कि दिए गए निष्कर्षों में से कौन-सा/
कौन-से निष्कर्ष निश्चित रूप से सत्य है/हैं और उसके  अनुसार अपने उत्तर दीजिये।

कथन: 
 A ≥ H > B = F < G < W

निष्कर्ष:
I. W > B
II. A > G

Only conclusion I follows1.
Only conclusion II follows2.
Both conclusions I and II follow3.
Either conclusion I or II follows4.
None follows5.

के वल निष्कर्ष I अनुसरण करता है1.

के वल निष्कर्ष II अनुसरण करता है2.

दोनों निष्कर्ष I और II अनुसरण करते हैं3.

या तो निष्कर्ष I या II अनुसरण करता है4.

कोई भी अनुसरण नहीं  करता है5.

Que. 14

Que. 14

Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is / are definitely true and then give your answers

accordingly.
Statements:
Q ≥ N < B = U > D ≥ Y > W < O
Conclusions:
I. N < U
II. U > W

निर्देश: दिए गए कथनों को सत्य मानते हुए निम्नलिखित प्रश्नों में, दिए गए निष्कर्षों में से कौन सा निष्कर्ष निश्चित रूप
से सत्य है/हैं और फिर उसी के  अनुसार अपने उत्तर दीजिए।

कथन:
Q ≥ N < B = U > D ≥ Y > W < O

निष्कर्ष:

Only I follows1.
Only II follows2.
Both I and II follow3.
Either I or II follows4.
None follows5.



I. N < U
II. U > W

के वल I अनुसरण करता है1.

के वल II अनुसरण करता है2.

I और II दोनों अनुसरण करते हैं3.

या तो I या II अनुसरण करता है4.

कोई भी अनुसरण नहीं  करता है5.

Que. 15

Que. 15

Directions: In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/ are definitely true and then give your answers

accordingly
Statements: H ≥ X < R < D ≥ > F > Y
Conclusions:
I. H ≥ Y
II. Y > H

निर्देश: निम्नलिखित प्रश्न में दिए गए कथनों को सत्य मानते हुए, ज्ञात कीजिए कि दिए गए निष्कर्षों में से कौन सा/से
निष्कर्ष निश्चित रूप से सत्य है/हैं और फिर तदनुसार अपने उत्तर दीजिये।

कथन: H ≥ X < R < D ≥ > F > Y

निष्कर्ष:
I. H ≥ Y
II. Y > H

Only II is True1.
Both I and II are True2.
Either I or II is True3.
Only I is True4.
Neither I nor II is True5.

के वल II सत्य है1.

I और II दोनों सत्य हैं2.

या तो I या II सत्य है3.

के वल I सत्य है4.

न तो I और न ही II सत्य है5.

Que. 16 Seven boxes A, B, C, D, E, F and G are kept one above the other to form a stack but not
necessarily in the same order. More than three boxes are kept between A and E. Box G is kept

below box B. Two boxes are kept between B and G. Box A is kept just below box G. Two boxes are kept
between F and C. Box C is not kept above G.  
How many boxes are kept above box D?

None1.
One2.
Two3.
Three4.
None of the above given option is true5.



सात डिब्बे A, B, C, D, E, F और G को एक ढेर बनाने के  लिए एक के  ऊपर एक रखा जाता है लेकिन जरूरी नहीं
कि इसी क्रम में हो। A और E के  मध्य तीन से अधिक डिब्बे रखे गए हैं। डिब्बा G को डिब्बा B के  नीचे रखा गया है।

B और G के  मध्य दो डिब्बे रखे गए हैं। डिब्बा A को डिब्बा G के  ठीक नीचे रखा गया है। F और C के  मध्य दो डिब्बे रखे गए हैं।
डिब्बा C को G के  ऊपर नहीं  रखा गया है।
डिब्बा D के  ऊपर कितने डिब्बे रखे गए हैं?

कोई नहीं 1.

एक 2.

दो 3.

तीन 4.

ऊपर दिए गए विकल्पों में से कोई भी सत्य नहीं  है5.

Que. 17

Que. 17

Which among the following box is kept just above G?
C1.

D2.
E3.
F4.
B5.

C1.
D2.
E3.
F4.
B5.

Que. 18

Que. 18

Number of box above D is same as number of box below ________?
A1.

B2.
E3.
F4.
G5.

A1.
B2.
E3.
F4.
G5.

Que. 19 Which of the following statement is NOT TRUE regarding arrangement?

Que. 16

िन�िल�खत म� से कौन सा िड�ा G के ठीक ऊपर रखा गया है?

D के ऊपर िड�ो ंकी सं�ा _____ के नीचे िड�ो ंकी सं�ा के समान है?



क्रम के  संदर्भ में निम्नलिखित में से कौन सा कथन सत्य नहीं  है?

Box F is kept below E. 1.
Five boxes are kept between F and A2.
Box D is not kept above Box G3.
Both 1) and 3)4.
Both 2) and 3)5.

डिब्बा F को E के  नीचे रखा गया है।1.

F और A के  मध्य पांच डिब्बे रखे गए हैं। 2.

डिब्बा D को डिब्बा G के  ऊपर नहीं  रखा गया है। 3.

1) और 3) दोनों 4.

2) और 3) दोनों 5.

Que. 20

Que. 20

Which of the following box is kept at the top?
D1.

E2.
B3.
F4.
None of the given option is true5.

D1.
E2.
B3.
F4.

दिए गए विकल्पों में से कोई भी सत्य नहीं  है5.

Que. 21

Que. 21

In a certain code language "FRIED" is written as "QEJCD", "PLANT" is written as "KOBSM"
how is "SHOWN" written in that code language? 

एक निश्चित कू ट भाषा में "FRIED" को "QEJCD" के  रूप में लिखा जाता है, "PLANT" को "KOBSM" के  रूप में
लिखा जाता है, उस कू ट भाषा में "SHOWN" को कै से लिखा जाएगा?

RGPVM1.
VMPRG2.
GRPMV3.
TIPXO4.
GRNMV5.

RGPVM1.
VMPRG2.
GRPMV3.
TIPXO4.
GRNMV5.

Que. 19

िन�िल�खत म� से कौन सा िड�ा सबसे ऊपर रखा गया है?



Que. 22

Que. 22

Point A is 6 m north of B. Point C is 8 m west of B. Point D is 4 m north of point C. Point D is 5 m
West of E, which is 4m south of point F. Point F is in which direction with respect to A?

बिंदु A, B के  6 मीटर उत्तर में है। बिंदु C, B के  8 मीटर पश्चिम में है। बिंदु D, बिंदु C के  4 मीटर उत्तर में है। बिंदु D,
E, जो बिंदु F के  4 मीटर दक्षिण में है, के  5 मीटर पश्चिम में है। A के  सन्दर्भ में बिंदु F किस दिशा में है?

North1.
North East2.
South West3.
North West4.
South East5.

उत्तर 1.

उत्तर पूर्व2.

दक्षिण पश्चिम3.

उत्तर पश्चिम4.

दक्षिण पूर्व5.

Que. 23

Que. 23

Directions: In the question below are given two statements followed by two conclusions. You have
to take the given statements to be true even if they seem to be at variance with commonly known

facts. Read all the conclusions and then decide which of the given conclusions logically follows from the
given statements disregarding commonly known facts.
Statements:
All Tiles are Floors
Only a few Floors are Paint
Conclusions:
I. Some Tiles are Paint
II. No Tiles are Paint

निर्देश: नीचे दिए गए प्रश्न में दो कथन दिए गए हैं जिसके  बाद I और II से दो निष्कर्ष दिए गए हैं। आपको दिए गए
कथनों को सत्य मानना है, भले ही वे सामान्यतः  ज्ञात तथ्यों से भिन्न प्रतीत होते हों। सभी निष्कर्षों को पढ़िए और फिर

तय कीजिये कि दिए गए निष्कर्षों में से कौन सा निष्कर्ष सामान्य रूप से ज्ञात तथ्यों को नजरअंदाज करने पर दिए गए कथनों का
तार्कि क रूप से अनुसरण करता है।
कथन:

सभी टाइलें फर्श हैं
के वल कु छ फ्लोर पेंट हैं
निष्कर्ष:
I. कु छ टाइलें पेंट हैं
II. कोई टाइल पेंट नहीं  है

Only I follow1.
Only II follow2.
Both I and II follow3.
Either I or II follow4.
Neither I nor II follow5.



के वल I अनुसरण करता है1.

के वल II अनुसरण करता है2.

I और II दोनों अनुसरण करते हैं3.

या तो I या II अनुसरण करते हैं4.

न तो I और न ही II अनुसरण करते हैं5.

Que. 24

Que. 24

Directions: In the question below are given two statements followed by two conclusions. You have
to take the given statements to be true even if they seem to be at variance with commonly known

facts. Read all the conclusions and then decide which of the given conclusions logically follows from the
given statements disregarding commonly known facts.
Statements:
I. Some tables are chairs
II. Only a few chairs are bed
Conclusions:
I. Some chairs are bed
II. Some chairs are not bed

निर्देश: नीचे दिए गए प्रश्न में दो कथन और उसके  बाद दो निष्कर्ष दिए गए हैं। आपको दिए गए कथनों को सत्य
मानना है, भले ही वे सामान्यतः  ज्ञात तथ्यों से भिन्न प्रतीत होते हों। सभी निष्कर्षों को पढ़िए और फिर तय कीजिये कि

दिए गए निष्कर्षों में से कौन सा निष्कर्ष सामान्य रूप से ज्ञात तथ्यों की अवहेलना किए बिना दिए गए कथनों का तार्कि क रूप से
अनुसरण करता है।
कथन:

I. कु छ मेज कु र्सियाँ हैं। 
II. के वल कु छ कु र्सियाँ बेड हैं। 
निष्कर्ष:
I. कु छ कु र्सियाँ बेड हैं। 
II. कु छ कु र्सियाँ बेड नहीं  हैं। 

Only conclusion I follows1.
Only conclusion II follows2.
Either conclusion I or II follows3.
Neither conclusion i nor IIfollows4.
Both conclusion I and II follows5.

के वल निष्कर्ष I अनुसरण करता है1.

के वल निष्कर्ष II अनुसरण करता है2.

या तो निष्कर्ष I या II अनुसरण करता है3.

न तो निष्कर्ष I और न ही II अनुसरण करता है4.

निष्कर्ष I और II दोनों अनुसरण करते हैं5.

Que. 25 Direction: In the question below are given two statements followed by two conclusions numbered
I and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:



Que. 25

Only a few boy is girl.
Some girl is child.
Conclusions:
I. Some boy is not girl.
II. Some child is boy.

निर्देश: नीचे दिए गए प्रश्न में दो कथन दिए गए हैं जिसके  बाद दो निष्कर्ष I और II दिए गए हैं। आपको दिए गए
कथनों को सत्य मानना है, भले ही वे सामान्यतः  ज्ञात तथ्यों से भिन्न प्रतीत होते हों। सभी निष्कर्षों को पढ़िए और फिर

तय कीजिये कि दिए गए निष्कर्षों में से कौन सा निष्कर्ष सामान्य रूप से ज्ञात तथ्यों की अवहेलना किए बिना दिए गए कथनों का
तार्कि क रूप से अनुसरण करता है।
कथन:

के वल कु छ लड़के  लड़कियां हैं। 
कु छ लड़कियां बच्चे हैं। 
निष्कर्ष:
I. कु छ लड़के  लड़कियां नहीं  है। 
II. कु छ बच्चे लड़के  हैं। 

Only conclusion I follow 1.
Only conclusion II follow2.
Either I or II follows3.
Neither I nor II follows4.
Both conclusion I and II follow5.

के वल निष्कर्ष I अनुसरण करता है1.

के वल निष्कर्ष II अनुसरण करता है2.

या तो I या II अनुसरण करता है3.

न तो I और न ही II अनुसरण करता है4.

निष्कर्ष I और II दोनों अनुसरण करते हैं5.

Que. 26 Direction: In the question below are given two statements followed by two conclusions numbered
I, and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statement:

Only a few shirts are pants

All pants are trousers

Conclusion :

I. Some trousers are shirts 

II. No shirts are trousers 

Only II follow1.
Both I and II follow2.
Either I or II follow3.
Only I follow4.
Neither I nor II follow5.



Que. 26 निर्देश: नीचे प्रश्न में दो कथन और उसके  बाद I और II से अंकित दो निष्कर्ष दिए गये हैं। आपको दिए गये कथनों को
सत्य मानना है, भले ही वे ज्ञात तथ्यों से अलग प्रतीत होते हों। सभी निष्कर्षों को पढ़िए और निर्णय कीजिए कि दिये गये

निष्कर्षों में से कौनसा/कौनसे निष्कर्ष ज्ञात तथ्यों को नजरंदाज करने पर कथनों का तार्कि क रूप से अनुसरण करता है/करते हैं।
कथन:

के वल कु छ शर्ट पैंट हैं
सभी पैंट ट्रा उजर हैं
निष्कर्ष:
I. कु छ ट्रा उजर शर्ट हैं
II. कोई शर्ट ट्रा उजर नहीं  है

के वल II अनुसरण करता है1.

I और II दोनों अनुसरण करते हैं2.

या तो I या II अनुसरण करते हैं3.

के वल I अनुसरण करता है4.

न तो I न ही II अनुसरण करता है5.

Que. 27

Que. 27

Direction: In the question below are given two statements followed by two conclusions numbered
I and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only a few Door is Fan.
No Fan is Book.
Conclusions:
I. Some Fan is not Book.
II. No Book is Door.

निर्देश: नीचे दिए गए प्रश्न में दो कथन दिए गए हैं जिसके  बाद I और II से अंकित दो निष्कर्ष दिए गए हैं। आपको दिए
गए कथनों को सत्य मानना ​​है, भले ही वे ज्ञात तथ्यों से अलग प्रतीत होते हों। सभी निष्कर्षों को पढ़िये और फिर तय

कीजिये कि दिए गए निष्कर्षों में से कौन सा निष्कर्ष सामान्य रूप से ज्ञात तथ्यों को नजरंदाज किए बिना दिए गए कथनों का
तार्कि क रूप से अनुसरण करता है।
कथन:

के वल कु छ दरवाजे पंखे है। 
कोई पंखा पुस्तक नहीं  है।
निष्कर्ष:
I. कु छ पंखे पुस्तक नहीं  है।
II. कोई पुस्तक दरवाजे नहीं  है।

Only conclusion I follows1.
Only conclusion II follows2.
Both conclusion I and II follow3.
Either conclusion I or II follows4.
Neither conclusion I nor II follows5.

के वल निष्कर्ष I अनुसरण करता है1.

के वल निष्कर्ष II अनुसरण करता है2.



निष्कर्ष I और II दोनों अनुसरण करते हैं3.

या तो निष्कर्ष I या II अनुसरण करता है4.

न तो निष्कर्ष I और न ही II अनुसरण करता है5.

Que. 28

Que. 28

Directions: Study the following information and answer the given questions.
There are eight people P, Q, R, S, T, U, V and W sitting around a circular table all are facing

toward the centre. Two persons are sitting between P and Q. U is sitting immediately right of Q. Two persons
are sitting between Q and R. T is sitting opposite to R. V is sitting to the immediate right of P. S is
sitting second to the right of W.

Who is sitting second to the right of T?

निर्देश: निम्नलिखित जानकारी का अध्ययन करें  और दिए गए प्रश्नों के  उत्तर दें।
आठ व्यक्ति P, Q, R, S, T, U, V और W एक गोलाकार मेज के  चारो ओर बैठे  हैं, सभी का मुख कें द्र की ओर है। P और Q के
बीच दो व्यक्ति बैठे  हैं। U, Q के  ठीक दायें बैठा है। Q और R के  बीच दो व्यक्ति बैठे  हैं। T, R के  विपरीत बैठा है। V, P के  ठीक
दायें बैठा है। S, W के  दायें से दू सरे  स्थान पर बैठा है।

T के  दायें से दू सरे  स्थान पर कौन बैठा है?

U1.
V2.
P3.
Q4.
R5.

U1.
V2.
P3.
Q4.
R5.

Que. 29

Que. 29

Who is sitting opposite to P?
W1.

Q2.
U3.
V4.
R5.

W1.
Q2.
U3.
V4.
R5.

P के िवपरीत कौन बैठा है?



Que. 30

Que. 30

Who is sitting fourth to the left of S?
Q1.

P2.
R3.
S4.
T5.

Q1.
P2.
R3.
S4.
T5.

Que. 31

Que. 31

How many persons are sitting between P and U?
One1.

Two2.
Three3.
Four4.
Five5.

एक1.

दो2.

तीन3.

चार4.

पांच5.

Que. 32

Que. 32

Who is sitting third to the right of Q?
R1.

P2.
S3.
T4.
U5.

R1.
P2.
S3.
T4.
U5.

S के बाय� से चौथे �थान पर कौन बैठा है?

P और U के बीच िकतने ��� बैठे ह�?

Q के दाय� से तीसरे �थान पर कौन बैठा है?



Que. 33

Que. 33

If the letters in the word "BROWNIE" are rearranged as they appear in the English alphabetical
series from left to right then the position of how many letters will remain unchanged after the

rearrangement?

शब्द के  अक्षरों को अंग्रेजी वर्णमाला श्रृंखला में बाएं  से दाएं  के  क्रम में पुनर्व्यवस्थित किया जाता
है, तो पुनर्व्यवस्था के  बाद कितने अक्षरों का स्थान अपरिवर्तित रहेगा?

None1.
One2.
Two3.
Three4.
Four5.

कोई नहीं  1.

एक 2.

दो 3.

तीन 4.

चार 5.

Que. 34

Que. 34

Directions: These questions are based on the following information.
There are 8 member A, B, C, D, E, F and G in a family. A is grandfather of F and father of C. B is

mother of G. E is mother of F, and wife of C. G is sister of C. D is mother of E. F is sister of H.   

How G is related to H?

निर्देश: ये प्रश्न निम्नलिखित जानकारी पर आधारित हैं।
एक परिवार में 8 सदस्य A, B, C, D, E, F और G हैं। A, F का दादा है और C का पिता है। B, G की माता है। E, F की
माता है और C की पत्नी है। G, C की बहन है। D, E की माता है। F, H की बहन है। 

G, H से किस प्रकार संबंधित है?

Aunt1.
Mother2.
Sister3.
Mother-in-law4.
Father5.

बुआ1.

माता2.

बहन3.

मदर-इन-लॉ4.

पिता5.

Que. 35 How C is related to D?
Son1.

यिद "BROWNIE"  



C, D से किस प्रकार संबंधित है?

Son-in-law2.
Brother3.
Father4.
Husband5.

पुत्र1.

सन-इन-लॉ2.

भाई3.

पिता4.

पति5.

Que. 36

Que. 36

Direction: Read the given information carefully and answer the questions asked below.
Seven people  A, B, C, D, E, F, and G live on seven different floors of a building but not

necessarily in the same order. The lowermost floor of the building is numbered as 1 and topmost floor is
numbered as 7. A does not live on the topmost floor. B lives immediately below F. C lives on an even-
numbered floor. Three people live between F and C. The number of people living between F and D is equal
to the number of people living between D and C. More than four people live between E and G. B lives on one
of the floors below G.
Who among the following lives on the sixth floor?

निर्देश: दी गई जानकारी को ध्यान से पढ़िये और नीचे पूछे  गए प्रश्नों के  उत्तर दीजिए।
सात व्यक्ति - A, B, C, D, E, F और G सात मंजिल की एक इमारत में अलग-अलग मंजिलों पर रहते हैं लेकिन जरूरी नहीं  कि
इसी क्रम में। प्रत्येक मंजिल को क्रमशः  नीचे से ऊपर तक 1 से 7 तक अंकित किया गया है। A सबसे ऊपरी मंजिल पर नहीं
रहता है। B, F के  ठीक नीचे रहता है। C एक सम संख्या से अंकित मंजिल पर रहता है। F और C के  बीच तीन व्यक्ति रहते हैं। F
और D के  बीच रहने वाले व्यक्तियों की संख्या D और C के  बीच रहने वाले व्यक्तियों की संख्या के  बराबर है। E और G के  बीच
चार से अधिक व्यक्ति रहते हैं। B, G से नीचे की किसी मंजिल पर रहता है।
निम्नलिखित में से कौन छठी मंजिल पर रहता है?

G1.
F2.
A3.
B4.
E5.

G1.
F2.
A3.
B4.
E5.

Que. 37 How many people live between G and B?
Three1.

Four2.
Two3.
One 4.

Que. 35



G और B के  बीच कितने लोग रहते हैं?

Five5.

तीन 1.

चार 2.

दो 3.

एक 4.

पाँच 5.

Que. 38

Que. 38

Four of the following five options are alike in a certain way, find out the odd one?
B1.

A2.
C3.
E4.
G5.

B  1.
A2.
C3.
E4.
G5.

Que. 39

Que. 39

Who among the following lives two floors below A?
E1.

C2.
B3.
D4.
F5.

E1.
C2.
B3.
D4.
F5.

Que. 40 Which of the following statements are correct according to the given arrangement?
Three people lives between F and E.1.

G lives on the topmost floor. 2.
D lives immediately above B.3.

Que. 37

िन�िल�खत पाँच िवक�ो ंम� से चार एक िनि�त तरीके से समान ह�, बेजोड़ �ात कीिजए?

िन�िल�खत म� से कौन A से दो मंिजल नीचे रहता है?



दी गई व्यवस्था के  अनुसार निम्नलिखित में से कौन सा कथन सत्य है?

C lives on the third floor.4.
F lives on an odd numbered floor.5.

F और E के  बीच तीन व्यक्ति रहते हैं।1.

G सबसे ऊपरी मंजिल पर रहता है।2.

D, B के  ठीक ऊपर रहता है।3.

C, तीसरी मंजिल पर रहता है।4.

F एक विषम संख्या से अंकित मंजिल पर रहता है।5.

Que. 41

Que. 41

What will come in the place of the question mark ‘?’ in the following question? 
55 × 45 + 205 - 15 × 12 = (?)  

निम्नलिखित प्रश्न में, प्रश्न चिह्न '?' के  स्थान पर क्या आएगा?
55 × 45 + 205 - 15 × 12 = (?)  

2

451.
552.
503.
604.
None of these5.

2

451.
552.
503.
604.

इनमें से कोई नहीं  5.

Que. 42

Que. 42

What will come in the place of the question mark ‘?’ in the following question? 
40% of 50% of 3/4 of 2400 = ? 

निम्नलिखित प्रश्न में, प्रश्न चिह्न '?' के  स्थान पर क्या आएगा?
2400 का 3/4 का 50% का 40% = ? 

36001.
362.
3603.
3664.
None of these5.

36001.
362.
3603.
3664.

इनमें से कोई नहीं  5.

Que. 40



Que. 43

Que. 43

What will come in the place of the question mark ‘?’ in the following question? 

272 × 425 ÷ (?)2 = 400

272 × 425 ÷ (?)2 = 400

151.
132.
173.
274.
None of these5.

151.
132.
173.
274.

इनमें से कोई नहीं  5.

Que. 44

Que. 44

What will come in the place of the question mark ‘?’ in the following question?
56 ÷ 14 × 4 – 316 + ?   = 100

निम्नलिखित प्रश्न में, प्रश्न चिह्न '?' के  स्थान पर क्या आएगा?
56 ÷ 14 × 4 – 316 + ?   = 100

2

101.
202.
303.
254.
None of these5.

2

101.
202.
303.
254.

इनमें से कोई नहीं  5.

Que. 45 What will come in the place of the question mark ‘?’ in the following question? 
729 ÷ 27 + 23 × 5 - ? = 36% of 200

401.
662.
503.
704.
None of these5.

िन�िल�खत �� म�, �� िच� '?' के �थान पर �ा आएगा?



Que. 45 निम्नलिखित प्रश्न में, प्रश्न चिह्न '?' के  स्थान पर क्या आएगा?
729 ÷ 27 + 23 × 5 - ? = 200 का 36%

401.
662.
503.
704.

इनमें से कोई नहीं  5.

Que. 46

Que. 46

Direction ∶  The following tabulation shows the collection of books by A, B, and C for five
different months. Study the following data and answer the following questions ∶

Number of books/Month July
 

August
  September October November

A 86 90 109 66 48
B 100 68 119 75 36
C 30 50 76 54 105

Number of books collected by C in November is how much more/less than Number of books collected by B
in July?

निर्देश: निम्नलिखित सारणी पांच अलग-अलग महीनों के  लिए A, B और C द्वारा पुस्तकों के  संग्रह को दर्शाती है।
निम्नलिखित आंकड़ों का अध्ययन कीजिए और निम्नलिखित प्रश्नों के  उत्तर दीजिए:

पुस्तकों की संख्या/महीने  जुलाई  अगस्त  सितम्बर  अक्टूबर नवम्बर 
A 86 90 109 66 48
B 100 68 119 75 36
C 30 50 76 54 105

नवंबर में C द्वारा एकत्र की गई पुस्तकों की संख्या, जुलाई में B द्वारा एकत्र की गई पुस्तकों की संख्या से कितनी अधिक/कम है?

251.
502.
303.
164.
None of these5.

251.
502.
303.
164.

इनमें से कोई नहीं  5.

Que. 47 What is ratio of number of books collected by A and C together in August to number of books
collected by B and C together in July?

1: 11.
14: 132.
13: 143.



अगस्त में A और C द्वारा एकत्रित पुस्तकों की संख्या का जुलाई में B और C द्वारा एकत्रित पुस्तकों की संख्या से
अनुपात कितना है?

7: 64.
None of these5.

1: 11.
14: 132.
13: 143.
7: 64.

इनमें से कोई नहीं  5.

Que. 48

Que. 48

Which month has the minimum number of books?
July1.

August2.
September3.
October4.
November5.

जुलाई 1.

अगस्त 2.

सितम्बर 3.

अक्टूबर 4.

नवम्बर 5.

Que. 49

Que. 49

What is the difference between number of book collected by B in november to number of book
collected by A in July and August together?

नवंबर में B द्वारा एकत्र की गई पुस्तकों की संख्या तथा जुलाई और अगस्त में A द्वारा एकत्र की गई पुस्तकों की संख्या
के  बीच का अंतर कितना है?

1201.
1352.
1553.
1404.
none of these5.

1201.
1352.
1553.
1404.

इनमें से कोई नहीं  5.

 

Que. 47

िकस महीने म� पु�को ंकी �ूनतम सं�ा है?



Que. 50

Que. 50

What is the average of number of books collected by A in all the given month except September
and November?

871.
672.
773.
574.
None of these5.

871.
672.
773.
574.

इनमें से कोई नहीं  5.

Que. 51

Que. 51

The area of a square and a rectangle are equal. The length of the rectangle is 8 cm more than the
length of any side of the square and the breadth is 6 cm less. The perimeter (in cm) of the rectangle

will be:

एक वर्ग और एक आयत का क्षेत्रफल बराबर है। आयत की लंबाई, वर्ग की किसी भी भुजा की लंबाई से 8 सेमी
अधिक है और चौड़ाई 6 सेमी कम है। आयत का परिमाप (सेमी में) क्या होगा?

120 cm1.
80 cm2.
100 cm3.
140 cm4.
160 cm5.

120 सेमी1.

80 सेमी2.

100 सेमी3.

140 सेमी4.

160 सेमी5.

Que. 52

Que. 52

25 litres of a mixture contains alcohol and water in the ratio 1: 4. If 5 litres of water is mixed in it,
the percentage of alcohol in the new mixture will be

25 लीटर मिश्रण में अल्कोहल और पानी का अनुपात 1 : 4 है। यदि इसमें 5 लीटर पानी मिला दिया जाए, तो नए
मिश्रण में अल्कोहल का प्रतिशत कितना होगा?

20%1.
25%2.
11.11%3.
14.28%4.
16.66%5.

20%1.

िसतंबर और नवंबर को छोड़कर सभी िदए गए महीनो ंम� A �ारा एक� की गई पु�को ंकी औसत सं�ा �ा है?



25%2.
11.11%3.
14.28%4.
16.66%5.

Que. 53

Que. 53

A student goes to college at the rate of 5 km/h and reaches 12 minutes late. If he travels at the
speed of 8 km/h he is 15 minutes early. Find the distance between his college and his starting

point?

एक छात्र 5 किमी/घंटे की गति से कॉलेज जाता है और 12 मिनट देरी से पहुंचता है। यदि वह 8 किमी/घंटे की गति से
यात्रा करता है तो वह 15 मिनट पहले आता है। उसके  कॉलेज और उसके  शुरुआती बिंदु के  बीच की दू री ज्ञात

कीजिए?

7 km1.
9 km2.
5 km3.
6 km4.
8 km5.

7 किमी1.

9 किमी2.

5 किमी3.

6 किमी4.

8 किमी5.

Que. 54

Que. 54

The ratio between the upstream speed of boat and the speed of current is 7 : 1. If the boat can cover
70 km upstream in 5 hours, then find the distance it can cover running downstream in 5 hours

नाव की धारा के  प्रतिकू ल गति और धारा की गति के  बीच का अनुपात 7 : 1 है। यदि नाव 5 घंटे में धारा के  प्रतिकू ल
70 किमी की दू री तय कर सकती है, तो वह 5 घंटे में धारा की अनुकू ल दिशा में कितनी दू री तय कर सकती है?

75 km1.
85 km2.
80 km3.
95 km4.
90 km5.

75 किमी1.

85 किमी2.

80 किमी3.

95 किमी4.

90 किमी5.

Que. 55 The sum of five consecutive even and four consecutive odd number is 96. Find the difference
between highest even number and lowest odd number among them if smallest even number is 4.

71.



पाँच क्रमागत सम संख्या और चार क्रमागत विषम संख्याओं का योग 96 है। यदि सबसे छोटी सम संख्या 4 है, तो
उनमें से सबसे बड़ी सम संख्या और सबसे छोटी विषम संख्या के  बीच का अंतर ज्ञात कीजिए।

12.
33.
54.
None of these5.

71.
12.
33.
54.

इनमें से कोई नहीं  5.

Que. 56

Que. 56

In a family, the average age of a father and a mother is 33 years. The average age of the father,
mother and their only son is 25 years. What is the age of the son?

एक परिवार में, एक पिता और माता की औसत आयु 33 वर्ष है। पिता, माता और उनके  इकलौते पुत्र की औसत आयु
25 वर्ष है। पुत्र की आयु क्या है?

16 years1.
9 years2.
6 years3.
12 years4.
18 years5.

16 वर्ष1.

9 वर्ष2.

6 वर्ष3.

12 वर्ष4.

18 वर्ष5.

Que. 57

Que. 57

What should come in place of the question mark '?' in the following number series?
9, 10, 6, 15,  ?,  24

निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 
9, 10, 6, 15,  ?,  24

311.
-12.
243.
64.
None of these5.

311.
-12.
243.

Que. 55



64.

इनमें से कोई नहीं 5.

Que. 58

Que. 58

What should come in place of the question mark '?' in the following number series?
7, 3.5, 3.5, 7, 28, ?

निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 
7, 3.5, 3.5, 7, 28, ?

561.
1682.
2243.
1404.
None of these5.

561.
1682.
2243.
1404.

इनमें से कोई नहीं 5.

Que. 59

Que. 59

What should come in place of the question mark '?' in the following number series?
3, 17, 45, 87, ?, 213

निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 
3, 17, 45, 87, ?, 213

1331.
1432.
1533.
1524.
None of these5.

1331.
1432.
1533.
1524.

इनमें से कोई नहीं  5.

Que. 60 What should come in place of the question mark '?' in the following number series?
6, 10, 15, 22, 32, ?

461.
362.
423.
324.



निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 
6, 10, 15, 22, 32, ?

None of these5.

461.
362.
423.
324.

इनमें से कोई नहीं  5.

Que. 61

Que. 61

What should come in place of the question mark '?' in the following number series?
6, 5, 9, 26, ?, 514

निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 
6, 5, 9, 26, ?, 514

1291.
772.
1023.
1034.
None of these5.

1291.
772.
1023.
1034.

इनमें से कोई नहीं 5.

Que. 62

Que. 62

A train moving at a speed of 36 km/hr crosses a standing man in 10 seconds. Find the tame taken
by it to cross a platform of 60 m.

36 किमी/घंटे की गति से चल रही एक ट्रे न एक खड़े व्यक्ति को 10 सेकं ड में पार करती है। 60 मीटर के  एक
प्लेटफॉर्म को पार करने के  लिए इसके  द्वारा लिया गया समय ज्ञात कीजिए।

10 s1.
6 s2.
12 s3.
16 s4.
20 s5.

10 सेकं ड1.

6 सेकं ड2.

12 सेकं ड3.

16 सेकं ड4.

20 सेकं ड5.

Que. 60



Que. 63

Que. 63

Two equal sums were borrowed at 8% p.a. for 2 years and 3 years respectively. The difference in
the interest was Rs. 96. Find the sums borrowed.

दो समान धनराशियों को क्रमशः  2 वर्ष और 3 वर्ष के  लिए 8% प्रति वर्ष की दर से उधार लिया गया था। ब्याज में अंतर
96 रुपये था। उधार ली गई धनराशि ज्ञात कीजिए।

12001.
8002.
24003.
16004.
None of these5.

12001.
8002.
24003.
16004.

इनमें से कोई नहीं  5.

Que. 64

Que. 64

Two person A and B  can do a work in 60 days and 40 days respectively. They started the work
together but A left after some time and B finished the remaining work in 10 days. After how many

days A leave?

दो व्यक्ति A और B एक कार्य को क्रमश: 60 दिन और 40 दिन में पूरा कर सकते हैं। वे एक साथ कार्य शुरू करते हैं
लेकिन A कु छ समय बाद कार्य छोड़ देता है और B 10 दिनों में शेष कार्य समाप्त करता है। A कितने दिनों के  बाद

कार्य छोड़ता है?

12 days1.
15 days2.
8 days3.
18 days4.
none of these5.

12 दिन1.

15 दिन2.

8 दिन3.

18 दिन4.

इनमें से कोई नहीं  5.

Que. 65 A person spends 25% of his annual income on house rent. 15% on travelling and 45% on
miscellaneous things. If he saves Rs. 13500 annually, then the personal spending on miscellaneous

things is
Rs. 900001.
Rs. 405002.
Rs. 450003.
Rs. 455004.
Rs.300005.



Que. 65 एक व्यक्ति अपनी वार्षिक आय का 25% घर के  किराए पर खर्च करता है। यात्रा पर 15% और विविध चीजों पर 45%,
यदि वह 13500 रुपये बचाता है, तो विविध चीजों पर व्यक्तिगत खर्च है

Correct Option - 2

90000 रुपये 1.

40500 रुपये2.

45000 रुपये3.

45500 रुपये4.

30000 रुपये5.

Que. 66

Que. 66

An amount of  money is to be divided among A, B and C in the ratio 4: 5 : 7 respectively. If the
amount received by C is Rs. 1000 more than amount received by B, The total amount received by

A and B together is 

एक धनराशि को A, B और C में क्रमश: 4 : 5 : 7 के  अनुपात में विभाजित किया जाता है। यदि C द्वारा प्राप्त
धनराशि, B द्वारा प्राप्त धनराशि से 1000 रुपये अधिक है, तो A और B को मिलाकर प्राप्त कु ल धनराशि क्या है?

Rs. 55001.
Rs. 80002.
Rs. 45003.
Rs. 60004.
none of these5.

5500 रुपये1.

8000 रुपये2.

4500 रुपये3.

6000 रुपये4.

इनमें से कोई नहीं  5.

Que. 67

Que. 67

The cost price of an article is 70% of the marked price. The gain percentage after allowing a
discount of 9% on the marked price is

Correct Option - 3

एक वस्तु का क्रय मूल्य, अंकित मूल्य का 70% है। अंकित मूल्य पर 9% की छू ट देने के  बाद लाभ प्रतिशत क्या है?

20%1.
25%2.
30%3.
can't be determined4.
none of these5.

20%1.
25%2.
30%3.

निर्धारित नहीं  किया जा सकता है 4.

इनमें से कोई नहीं  5.

Que. 68 What will come in the place of the question mark ‘?’ in the following question? 

Solution

Solution



Que. 68

(255 - 55) ÷ 4 × 15 - 504 ÷ 3 = ?

निम्नलिखित प्रश्न में, प्रश्न चिह्न '?' के  स्थान पर क्या आएगा?
(255 - 55) ÷ 4 × 15 - 504 ÷ 3 = ?

821.
762.
5823.
854.
None of these5.

821.
762.
5823.
854.

इनमें से कोई नहीं  5.

Que. 69

Que. 69

What will come in the place of the question mark ‘?’ in the following question?
20% of 36 + 40% of 60 = ?

निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 

36 का 20% + 60 का 40% = ?

32.11.
31.22.
30.23.
23.24.
None of these5.

32.11.
31.22.
30.23.
23.24.

इनमें से कोई नहीं  5.

Que. 70

Que. 70

What will come in the place of the question mark ‘?’ in the following question? 
√5625 ÷ 15 × 21 ÷ 3 + 5 = ?

निम्नलिखित प्रश्न में, प्रश्न चिह्न '?' के  स्थान पर क्या आएगा?
√5625 ÷ 15 × 21 ÷ 3 + 5 = ?

401.
82.
303.
254.
None of these5.

401.

�



82.
303.
254.

इनमें से कोई नहीं  5.

Que. 71

Que. 71

What will come in the place of the question mark ‘?’ in the following question?
(1 ÷ 1 )×? = 42

5
5
16

1. 3 3
4

2. 4 3
4

3. 2 3
4

4. 1 3
4

None of these5.

(1 ÷ 1 )×? = 42
5

5
16

1. 3 3
4

2. 4 3
4

3. 2 3
4

4. 1 3
4

इनमें से कोई नहीं  5.

Que. 72

Que. 72

What will come in the place of the question mark ‘?’ in the following question?
√324 ÷ 3/19 - 87 = ?

निम्नलिखित प्रश्न में, प्रश्न चिह्न '?' के  स्थान पर क्या आएगा?
√324 ÷ 3/19 - 87 = ?

201.
372.
173.
274.
None of these5.

201.
372.
173.
274.

इनमें से कोई नहीं  5.

Que. 73 What will come in the place of the question mark ‘?’ in the following question? 

(3/4)3 × (2/3)4 ÷ ? = 1/624

                                                                                                                                           

िन�िल�खत �� म�, �� िच� '?' के �थान पर �ा आएगा?



निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 

(3/4)3 × (2/3)4 ÷ ? = 1/624

521.
722.
623.
824.
None of these5.

521.
722.
623.
824.

इनमें से कोई नहीं  5.

Que. 74

Que. 74

What will come in the place of the question mark ‘?’ in the following question?
3685 - 4228 + 3120 ÷ 2 = ?

निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 
3685 - 4228 + 3120 ÷ 2 = ?

11171.
10172.
17013.
17104.
None of these5.

11171.
10172.
17013.
17104.

इनमें से कोई नहीं  5.

Que. 75

Que. 75

What will come in the place of the question mark ‘?’ in the following question?
224/4 + 64 × 3 = ?

निम्नलिखित संख्या श्रृंखला में प्रश्नवाचक चिह्न '?' के  स्थान पर क्या आना चाहिए? 
224/4 + 64 × 3 = ?

2381.
2432.
2453.
2484.
None of these5.

2381.
2432.

Que. 73



2453.
2484.

इनमें से कोई नहीं  5.

Que. 76

Que. 76

Directions: Study the graph to answer the questions below:
The following bar graph shows the number of animals in 5 Zoo A, B, C, D, and E.

Number of animals in A is what% more than that of C?

निर्देश: नीचे दिए गए प्रश्नों के  उत्तर देने के  लिए आलेख का अध्ययन कीजिये:
निम्नलिखित दंड आलेख 5 चिड़ियाघर A, B, C, D और E में जानवरों की संख्या दर्शाता है।

 

A में जानवरों की संख्या C के  जानवरों से कितने प्रतिशत अधिक है?

52.75%1.
33.33%2.
37.5%3.
40.25%4.
None of these5.

52.75%1.
33.33%2.
37.5%3.
40.25%4.



5.

Que. 77

Que. 77

Find the average of total number of animals in all the zoo.
3751.

1752.
3003.
2754.
None of these5.

3751.
1752.
3003.
2754.

इनमें से कोई नहीं 5.

Que. 78

Que. 78

Find the ratio of total number of animals in a and b together and that of C and D together.

a और b में मिलाकर जानवरों की कु ल संख्या और C और D में मिलाकर जानवरों की कु ल संख्या का अनुपात ज्ञात
कीजिये।

25: 221.
22: 252.
5: 43.
4: 54.
None of these5.

25: 221.
22: 252.
5: 43.
4: 54.

इनमें से कोई नहीं  5.

Que. 79

Que. 79

If number of animals in B is increased by 40%, then find the difference between number of animals
in B and C.

यदि B में पशुओं की संख्या में 40% की वृद्धि की जाती है, तो B और C में जानवरों की संख्या के  बीच का अंतर ज्ञात
कीजिये।

2251.
1752.
2503.
2754.
2905.

इनम� से कोई नही ं

सभी िचिड़याघर म� जानवरो ंकी कुल सं�ा का औसत �ात कीिजये।



2251.
1752.
2503.
2754.
2905.

Que. 80

Que. 80

Find the number of animals in C and E together is what percent more than the number of animals
in A and D together

C और E में मिलाकर जानवरों की संख्या A और D में मिलाकर जानवरों की संख्या से कितना प्रतिशत अधिक है,
ज्ञात कीजिये?

10%1.
5%2.
15%3.
25%4.
7%5.

10%1.
5%2.
15%3.
25%4.
7%5.




